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1.  (A) Cl > S > Se  (B) C > N > O  (C) Ga > Al > B  (D)  
2.  (A) F-H > S-H > O-H  (B) O-H > S-H > F-H  (C) F-H > O-H > S-H  (D) O-H > F-H 

> S-H 
3. (Cr)  (A) [Ne]3s23p3  (B) [Ar]4s13d5  (C) [Ne]3s13p5  (D) [Ar]4s23d4 
4.  (A) KCl > NaCl  (B) MgCl2 > MgO  (C) Na2O > NaCl  

(D) LiF > MgO 
5.  CO, CO2, CO3

2-, CH3OH  -  (A) CO  (B) CO2  (C) CO3
2-  (D) 

CH3OH 
6. (A) BF3  (B) BH2

-  (C) COCl2  (D) I3
-

 
7. H-X-H(X )  (A) H2O > NH3 > CH4 (B) CH4 > NH3 > H2O (C) 

H2O > CH4 > NH3 (D) CH4 > H2O > NH3 
8.  (A)  (B)

  (C)  (D)  
9.  (A) atm M  (B)

 (C)  (D)  
10.  (A)H2SO4 HSO4

-  (B)H3PO4 H+ (C)
 (D)  

11.  (A) CaCO3   (B) Ag2SO4   (C) PbI2   (D) Na3PO4 
12.  (A)  (B)

 (C)
(D)  

13.  (A)  (B)  (C)  (D)  
14.  (A)  (B)  

(C) (specific heat)  (D)  
15. 1.0M HA  (A) [A-] > [H+]  (B) pH = 0  (C) [HA] = 1.0 M   (D)

 
16. pH  (A) pH < 7 (B) pH = 7  (C) pH > 7  (D)

 
17.  (A) HCl > HBr > HI  (B) HClO3 > HBrO3 > HIO3  (C) HClO > HClO2 > 

HClO3  (D)  
18.  (A) K2SO4 (B) NaNO3 (C) NaHCO3 (D) (NH4)2SO4 
19. 1.5 g NaOH(40 g/mol) 0.25 M H2CO3 150 mL  (A)  (B)

 (C)  (D)  
20.  (A) (HCP) ABCABC…  (B)

(BCC) (a) (r)  a = 2r  (C)
12  (D) (FCC) 2  
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21. STP 4.0 M 4.0 X2 2.0  (A) MX2  (B) MX3  (C) 

M2X3  (D) M2X4 
22. 48.38% 8.12% (C = 12 g/mol H = 

1 g/mol O = 16 g/mol)  (A) C3H6O2  (B) C2H4O2  (C) C3H2O  (D) C2H5O3 
23. (CaCO3) STP 20.0g

( Ca = 40 g/mol C = 12 g/mol O = 16 g/mol)  (A) 4.48  (B) 22.4  (C) 34.1  (D) 58.6 
24.  m NH3 + n O2  p NO + q H2O  (A) m = 5  (B) p = 3  (C) n + q = 11  

(D) m-n = 2 
25. (S8) Cu2S 1.27 g Cu2S 1.21g

(S =32 g/mol Cu = 63.5 g/mol)  (A) 62%   (B) 76%  (C) 83%  (D) 94% 
26. 2.0M HNO3 300.0 mL  15.0 M HNO3  (A) 20.0  (B) 40.0  (C) 80.0  (D) 100.0 
27. HCl(aq) 15.0 mL 0.5 M NaOH(aq) 45.0 mL HCl   (A) 0.5M  (B) 1.0M  (C) 

1.5M  (D) 2.0M 
28.  (A) AgNO3(aq) + KI(aq)  (B) CuSO4(aq) + Na2S(aq)  (C) Ba(NO3)2(aq) + NaOH(aq)  

(D) NiCl2(aq) + HNO3(aq) 
29.  (A) Zn(s) + 2 HCl(aq)  ZnCl2(aq) + H2(g)  (B) O3(g) + NO(g)  O2(g) 

+ NO2(g)  (C) Cr2O7
2-

(aq) + 2 OH-
(aq)  2 CrO4

2-
(aq) + H2O(l)  (D) 2 H2O2(l)  2 H2O(l) + O2(g) 

30.   (A) 1 1  (B) 2 2   (C) 3 3  (D) 4 4 
31.  (A)ZnS  (B)  (C)

 (D)  
32.  (A)  (B)

 (C)  (D)  
33.  2NO2  N2O4  R = k[NO2]2 k  (A) NO2 2

 (B)  (C)  (D)  
34.  X2 + Y + Z � XY + XZ X2 Y 3 3

Z  (A) k[X2][ Y]  (B) 2
 (C) X2Y  X2 + Y�X2Y  (D)  

35.  N2F4(g)  2NF2(g) �H0 = 38.5 kJ/mol  (A)  (B)
N2F4(g)  (C)  (D)  

36. 2NaHCO3(s)  Na2CO3(s) + H2O(g) + CO2(g)  (A)
CO2(g)  (B) NaHCO3(s)  (C) Na2CO3(s)  (D)  

37.  2B BB2 A + B2  AB2 K1 K2 2B + AB2  A + 2B2

 (A)K1K2  (B)K1/K2  (C)K1+K2  (D)K1-K2 
38. (A)NaI/HI  (B)  

(C) pKa pH  (D)  
39. pH=7.4  (H3PO4 pKa = 2.12 , H2PO4

- pKa = 7.21 , HPO4
2- pKa = 

12.32) (A) Na3PO4/H3PO4  (B) Na2HPO4/NaH2PO4  (C) NaH2PO4/H3PO4  (D) Na2HPO4/H3PO4 
40. CdS (A) LiNO3  (B) Na2SO4  (C) KCN  (D) NaClO3 


